Operations with Roman Numerals (])

10

- VIII = IV

. XCII + XXIII

- XXXVI =+ VI

- XCIX + XI

VIII + XLIX

VI x XII

XC+X

- IV x XXIII

.V xXI

11

12.

13.

14.

15.

16.

17.

18.

19.

20.

Answer each question in Roman numerals.

- IX + XXIII

XCV +1

LXXVII + XI

LIV + XXVII

XCVI - XXXI

XCVIII - XCII

XCIV - XIV

XCIII - XLV

[T x XLIII
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Operations with Roman Numerals (J) Answers

10

Answer each question in Roman numerals.

. VIII = 1V 11. IX + XXIII
=11 = XXXII

. XCII + XXIII 12. XCV + 1
=1V = XCVI

. C-1 13. LXXVII + XI
= XCIX = VII

- XXXVI =+ VI 14. LIV = XXVII
=VI = ]I

- XCIX + XI 15. XCVT - XXXI
=[X = LXV
VIII + XLIX 16. XCVIII - XCII
= LVII = VI
VI x XII 17. XCIV - XIV
= LXXII = LXXX
XC+X 18. XCIII - XLV
=X = XLVIII

- IV x XXIII 19. Xx V
= XCII =L

.V x XI 20. 1T x XLIII
=LV = LXXXVI
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